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1.
A rogular pontagon is contorad about the origin and has a vortex at (0, 4).

‘Which transformation maps the pentagon to itsolf?

A, areflection across line m

B. a reflection across the x-axls

€. a clockwise ratation of 100° about the origin
D. & clockwise rotation of 144° about the origin
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82.
A square pyramid

/ 5 inches

5 inches
5 inches

The space inside the box around the pyramid is then filled with protective foam.
About how many cubic inches of foam is needed to fill the space around the
pyramid?

A. 8 cubic inches

B. 41 cubic inches

€. 83 cubic inches

D. 125 cubic inches
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81.
Find the difference in the volume of the two spheres below.

e

a 9721 c. 1807
b 684x d 324x
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79.

Jason constructed two cylinders using solid metal washers. The cylinders have
the same height, but one of the cylinders is slanted as shown.

‘Which statement is true about Jason's cylinders?

A The cylinders have different volumes because they have different radil.

B. The cylinders have different volumes because they have different surface areas.

C. The cylinders have the same volume because each of the wasners has the
same height.

D. The cylinders have the same volume because they have the same cross sectional
area at every plane parallel 10 the bases.
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80.
9
Whatis the volume of a eylinder with a radius of 3 n. and  helght of 5 in.?

A Blrins

8 Zain:
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86.

Bianca spins two spinners that have four equal sections numbered 1 through 4.
If she spins a 4 on at least one spin, what is the probability that the sum of her
two spins is an odd number?

A

[B ~1e B~ si=

16




image101.png
85.

Assume that the following events are independent:

«The probability that a high school senior will go to college is 0.72.

«The probability that a high school senior will g0 to college and live on
campus is 0.46.

What is the probability that a high school senior will live on campus, given that
the person will go to college?

A 026

B 033
c. 057
D. 054




image102.png
84.

For which set of probabilities would events A and B be independent?
A P() = 0.25; P(E) = 0.25; PIA and B)= 0.5

B. P(A)=0.08; P(B) = 0.4; P4 and B) = 0.12

€. P) = 0.16; P(B) = 0.24; PIA and 8) = 0.32

D. P(A)=0.3; P(B) = 0.15; P(A and B) = 0.045
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83.

A random survey was conducted about gender and hair color. This table records
the data.

Hair Color

Brown Blonde Red  Total
548 | 876 | 82 | 1506
612 | 716 | 66 | 1.394

1160 | 1692 | 148 | 2900

Male
Female

Total

What is the probability that a randomly selected person has blonde hair, given
that the person selected is male?

A 051

B. 055
c. 058
D. 063
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91.

In a particular state, the first character on a license plate is always a letter. The
last character is always a digit from 0 to 9.

If V represents the set of all license plates beginning with a vowel, and 0

represents the set of all license plates that end with an odd number, which
license plate belongs to the set Vand ' 2
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When rolling a fair, six-sided number cube, what is the probabi

of rolling an even

number or a number less than 37

A

@B IR wivo o

0.

What is the probability of r

ing a5 on a fair, six-sided number cube if you know

that you rolled an odd number?

A

WIN NP Wik ok
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4.

Look at quadrilateral QRST.

What is the image of point R after a counterclockwise rotation of 270 degrees
about the origin?

A (6,-3)
B. (3.6)
C. [-6,3)
D. (3.-6)





image106.png
87.
Mrs. Klein surveyed 240 men and 285 women about their vehicles. Of those
surveyed, 155 men and 70 women said they own a red vehicle. If a person is
chosen at random from those surveyed, what is the probability of choosing a
woman or a person who does NOT own a red vehicle?

A
57
71
B 105
74
© 05
83
D 15
88.

Each letter of the alphabet is written on separate cards in red ink. The cards are.
placed in a container. Each letter of the alphabet is also written on separate
black ink. The cards are placed in the same container. What is the.

that a card randomly selected from the container has a letter written
in black ink o the letter is A or Z2

A
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96.

A construction company is preparing 10 scres of land for a new housing cammunity.
The land contain lage rocks that ned o be removed. A machine femoves 10
tocks from 360 square feet o land.

Lacre = 43,560 square fest

About how many rocks will need {0 be remored from the 10 acres of land?

A 300 rocks
81210 rosks

©.12.100 rocks
D. 435,000 rocks

97.

Thisis a hand drawing of a mountain,

Explin which geometric shape could be used to estimate the fotal amount of Earth
the mountain is made of,

A Triangie
B.Cone
- Cyinger
D.circe
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95.

A company needs to package this bell in a rectangular box.

8inches

1

}—6inches —]

What are the smallest dimensions (length, width, and height) the rectangular box
can have so that the lid of the box can also close?

A 8inlong. 8inches wide, and 8 nches high
B.51nlong, 8 inches wide, and 8 inches igh
. 8inlong, 8 inches wide, and 8 inches igh
.8in long 8 inches wide, and 8 inches igh
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92.
‘Consider the construction of the angle bisector shown.

¥

e

Which could have been the first step in creating this construction?

A. Place the compass point on point A and draw an are inside Y.

Place the compass point on point 8 and draw an arc inside 2Y.
Place the compass point on vertex ¥ and draw an arc that ntersects VX and 1Z.

© o

Place the compass point on vertex Y and draw an are that ntersects point .

93.

Consider the beginning of a construction of a square inseribed in circle Q.
Step 1: Label point R on circle .

Step2: Draw a diameter through R and @.

Step 3:  Label the point where the diameter intersects the circle as point T.

What is the next step in this construction?

Oraw radius S0
Label point S on circle Q.

Construct a lne segment paralel to AT
Construct the perpendicular bisector of RT.

oo w® >
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4.

Joe counts 250 peach trees on 257% of the land he owns. He determined that

there are 10 trees for every 1,000 square feet of land. About how many acres of
land does Joo own?

1 acre = 43,560 square feet

23 acres
10 acres

4356 acres
2,500 acres.

sowmx
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100.

A pyramid and a roctangular prism havo congruent bases and equal heights. Write
2 statomont comparing tho volumo of tho figuros, and oxplain your reasoning. Writo
your angwor on tho linos provided.
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98.

)
Explin why the formula for the area of a sectoris A = 55g.

the circle and 0 is the measure in degrees of the central anle of the sector. Use

here r s the radius of

the word piin your explanation instead of the symbol 7. Write your answer on the
lines provided.
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101.

A student draws a card from a standard deck and then draws another card without
teplacing the first card. Explain why the probability of picking an ace on the first

draw and the probability of picking a 7 on the second draw are NOT independent
events. Write your answer on the lines provided.
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99.

Study the triangle.

3in.

Explain how you can determino the valuo of sin x. Use the word theta in your
explanation instead of the symbol. Write your answer on the lines provided.
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segments tht e on the same ine?
A colinear

8. concument

€. conguent

D. persendicular

o“é
Gmg,a' N Transformations
Mnhﬁfﬁﬁ‘!e‘ in the Coordinate Plane
4. Which regular polygon, when rotated
1. Which of the ollowing correcty describes a -
geometrcrotaton? B0 st ik, oyt
A stnomationtho umsafgus
P A qudistos
B, atransformation that sides 3 figure toa B. pentagon
reniocin < hemgon
€ sumtomstonthaipsafgue 5. decagon
rosaine
5. anstomstionthtenrges o eckces
he s ot oy acoran s o
5. Viich quackistalmit e fever thn 2 s
ofsymmety?
2. The ansormation thatcares paraliclogram A ke
LINO o paatogam EAIVO was 5. recangle
pedomed inthecooninse plne belon. i
1 D. trapezoid
S
HHH
SiEazsae) 6. Thetmtomaiontiom ecrge ARCDorectng s
HHHHH ATCD vespatomad e s pae el
¥
. .
HHHHHH x
‘Which correctly describes the transformation I
peromed? 7
A, reflection over the line x = 0 . .
[ PO —
€. rotionsbouthecign A Tep=ioon
Pap— 5 Tepmkoizye2
3. Wiichofthefolosingdeserbes twourise € Tep=irizy-2

o Ty

=
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2

Which sequence of transformations maps AABC to ARST?

A, Reflect A4BC across the line x =—1. Then ransiate the result 1 unit down.

B. Reflect AABC across the line x = -1, Then translate the result 5 units down.

C. Translate 54BC & units 10 the right. Then rotate the result 90° olockwise about
the point 1, 1).

D. Transiate AABC 6 units 1o the right. Then rotate the result S0° counterclockwise
about the point (1, 1.
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Transformations
in the Coordinate Plane

Wihc

1 of e folwing corecty desries a geometsctandation?
avenstormatin ha s figue bout  fed pont

atenstomation hat sides g 103w locaion

atensiomation ht fipsa figue across a e

atensiormationthat enarges orreduces the ¢ ofa it by a certainscaleactor

8. Thegaphofrectangle WXYZis shawn on the coardinate plane belo.

Which rectangle gaphed below represets the imag ofectangle WAYZaferaclockisaroaton

by270° sboutheorgin?
. i [ v
H E
o 3 i
B )
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Mllestones

10,

n

Georgi

Transformations
in the Coordinate Plane

Aot nonero ranslormation ko potygon
has boon pertrmed fourconsecutive imes,
pelgon Phas etumed to s rgins poitcn
ntho piane, Which of thefolowng could ot
oserbo tansformaton !

A arofaction ove a fuedine
B aroution by 90" aboutafacd pont
€. arottion by 180" sbout a fred poiet
D, 3 tnsivion by (o, b) s nthe pine

Vich ropresonts the number o nes of
symety thatre possessect by aregula rgon?

L]
o »
c
o

Rectangle STOVsarphed onthe coordinste
clane below,

Wrichseris o tnstormatians vl cary
recange STUV oo tsef?

A reection over the y.axs, dockaise etaton
by 1607 sbout the rign, eflecton over
treyasis

B, rllection over tho s, rflection vor o
i, counterciochorsa retstion by 270"
oot i enin

€. relection oer tho v, refection xor o
i, Countorcochosan retaon by 180"

. reacion o tho s, roflection vor

oy, clocknics reation by 9 st

.

.

Paraicioqram JKLMand isimage aar a series
of tonsformatons, parallogram K LA ore
ragned on the coordnsts pana below,

¥

Which sorios o tarcformations maps
paratleogram LM ono [ KLM'T

A eficrion o the s, tansition 4 units
el refecton over the x axis

B. clochwise rotation by 160" abou the orgin
refection over the y o<, snslotion
2units ot

e, e —
7 units dawn

. clockwis rottion by 90° sbout the orgin,
reficcion over the xoxis, counterclockmise
rotaton by 270° o the orgin

The ransiormaton from paralisiogram COEF o
paralionram C'D'E'F was perfodned in e
<oorsinato plane below.

Wrich of o following cortecty doscribos the
refiacion n function netaton?

A fp=
B = (onn)
c Rep=t

Py E—

-
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Transformations
in the Coordinate Plane

Which graph represents the image of AFQR afer the tiansformation Ry, ) = . =x)7

A T ——

?

FEHE

Which graph represents the image of trapezoid G afte the transiormation Tlx, ) = (x + 2,y + 217
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Georgia “, Proofs, Congruence
Milestones Lo
And Similarity
V. Which statement is not always true? 4. Rectangle ORST is graphed beiow.
A, Similar figures have corresponding angles ot
‘that are equal in measure. b immsl
B, Simiar figures have coresponding sides S
ttre el ngth.
€. Dising gl by postve s hctor H
s tan’ et s gl wih H
horter s HE: H
0. Distiga vngl by scae corgreser
than et inaimdae vianglowith .
cctarsle ORSTis it o thoogin by
fongersides e or oy, which sstermart il ot
2. Whichset of statements s accurate and can e
be usedito show that APQR s similarto s e e ool i
ATUV by the AA~ Postulate? Use only the. B Kol 4 urts omg with encpiot st
information given. . 1)and (5,
PR e ve G ——
U 0, )and (1, 2).
a D, tilbo 4 ursong it ancpoins
[t
5. Aulangle, AABC, s dilated to form ADEF.
Which of e oloing must o ruc?
A m<oe
P R T v B -5
& ma<mzo
A LP=LTLQ=LU
D, srencf AABC < aeaof ADEF
B (Pm/T Qv
6. Whichsttamentorsatemerts re accustoand
€. sPmiTOP=TU could be used to prove that AABC is et similar
D O LU sidesPQond TUhove 0 ADEFby th S5~ Thecren?
proportionsllengths.
a

Wihich ofthe following satements s true?

A, Twosimiar angles must be congruent.

B.Two congruent iangles must be similr.

€. Twotiangles having the same area must
be congruent.

. Twoiangles having the same perimeter
must be simil,

P 0>
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Georgia '3
Milestones

-

Proofs, Congruence
And Similarity

&

7

Wrich of the following paies o iures n the
plan are not necessarllysimilar?

A twocirclos haing diferent g

two equilstens iangles having
difirentaress

€. twoquediaterss each having drightanges.
two regular hexagons

°

Given thot LA cf ABCand £Dof ADEFare:
‘eachrightangles, which ofthe following can be
used 1o prove thatight AABC ~ right ADEF?

A FBuTE
za=sc
-3
D. sC=sF

In AGH, 7 isdrawn paralelto Gto create.
BKHL Vibats the value of 1

H

G 8 J

Sunits
75 unis
T0units

porr

12units

In BABC, Dis the micpoint of A, Eis the
midpoint of BC, and segment DE s drawn
paralieto base A toform ADEC Which of the
following satements s not tue?

A mmon0rC
Soraac =2

B LCAB=LCDE

. cACB=LDCE

pereter ot ADEC

L2

1. Two parallel nes are cut by two difleent

tansversals as shown.

4
a\b
oNd G
a\r i|m
A L
Y
‘Which descrbesall ofthe angles thatare:
congruentto £f?
A anglegony

B. angeescandgenly
€. angesb,c,andg
D. anglesb, 9., m,andn

12, Twotiangles, AABCand AXYZ, areshown
below.

c  x
v
8
Az

Which setof congruent corresponding pars-
proves that AABC = AXYZY

A LAmIXAESEC TR
B B LYAB, LA LX
€ C=TR=B BNV
D. LA=iXLB=2Y,LC=22

3. inloscelos AABC, AB = BC.
‘Whatis the value of x?

1 A 10

‘ﬁ B 25°

c 4

b. 100°
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5.

If triangle XYZ s rotated 90° clockwise about the origin to form
of r'?

a (23
b (2,3
o (2,3

@ (3.2
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S
S
cﬁ,gh‘;' Proofs, Congruence |
Milestones Lo
= And Similarity
picoic table,using the. 17, Atisngle, AMINE was dited viththe originas
dogram btow s a0 e cente s toprocucs ANT
ALY, y

16.

2

70\ \t1o*

7\

tho top ofthe pcnic ablos paaliel othe
benches, whatis the wlue o xinthe diagram?

A
5
c
o.

Whtwas the scalefctor ofthe diaton?

- s
55 e 3
> :
-
o H
L |

Atiiangle, ADEF,isotated 180° about the origin toform AL
¥

Which of the following statements must be true?

A DF=] ¢ EF=fK

B D=sK D. sF=z]

‘Which of the following does not prove thata quadriaterais a paralielogram?

A
8.
c
0.

Opposite sides are congruent and paraliel.
One pai of adjacent sdes i perpendicular
Opposite angles are congruent.
‘The diagonals bisect each other.
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Georgia - Proofs, Congruence
corga 3
Milestones: And Similarity

18, Which sequence ofrigid motions moves ADEF so it completely covers AD'ETF'7

£ o
’ ] A
F o
refection of ADEF scross a verticaline followed by a transiation to the ight
refection of ADEF scross a verticalin followed by a transltion down

clockwise rotation of ADEF by 90° about paint E followed by a translation down
D, clockwise rotation of ADEF by 90° about point F followed by a transiation to the right

19, Line AB wilbe dilated by a scalefactor of 3with th origin as the center of cllaton.

Wrichcorecty desrioes the o that il b the st o s

A il prlltofne A and wil pass rough 0,317 5,51,

B.. Itwilbe panlltoline ABandwilpass hrough 0, ~3)nd 3, -2,

€. wiltersacith foe AB st ol e pon, theorign.

B, il ook denca o e ABand wihareal point i commen it e A3

20. Wnichoofthe following can ba Used o show hat AABC ~ AHJK, using the information given?

R A, AA~Postulate
" I B.  SAA~Theorem
‘ ”. o €. 5AS~Theorem
D. 555~ Theorem
A 61 ¢ H K

21 The graph below shows ARST.

‘Which woud not be one ofthe effects o rotating ARST counterclockwise by 90" botthe arginand then
reflcingthe oated image across the s to prodiuce ARS'T'T

A Line segment T°S” would have endpoints 78, 3)and S°(, 61
B. FPoint T"wouldbe at(2,2).

= XC.. Thelength of R"S" would be 3 units.

Pl D. Trangle R*S"T* would be congruentto ARST.
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o 1
Milestones

Georgia

Right Triangle
Trigonometry

Foracute LAand acute B, fsnA=cosB, 5.
which of the ollowing must be true?

A mA+MLB<0"

B. miA+mLE>%0"

€ miA=mss

D. miA+miB=%0"

2. Nicole susinga ladder thatis 16 feetlong to
climboverawallthatis 13 feat tal The top.
of the ladder meets the topof the wallto
form LW, Which of the folowing tigonometric:
ratios accurately describes LWT

n

A saW

3. HcosX> sin X, which ofthe ollowing may
representme X

mLxX=30"

mexX=145" 2

meX=60°

. miX=90°

4. HmZA =0 andmeB = 90°, which of the
following has the greatest alue?

A A
B A
[
D. cosB

Which ofthe following s a tigonomeic rati for
tistriangle?

18

b cosx=}

€ wx=

For £G messuing 41° which ofthe folowing
istue?

A 0<csG<snGnG<]

B. 0<csG<snG1<tnG

€. O<inG<cosGianG<l

D. 0<$NG<cosGl<ENG

In AABC, m£ C = 55%and sin C = 0.82.

A
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N
E 3 Right Triangle S

Georgia 3
Milestones Trigonometry

Whatis . thelengthof BC n AABC? For ZKmessuring 577, which of the following

iswue?

A O<cosK<sinKinK<1
O<cosk<sak 1<tk
O<sinK<cosK k<1
O<snk<coskil<unK

o.

12, Whatisthe length of POTin APCRI

7motors

A a
B, 7VImeters
C 28mes
D. 14V3 meters
Which shows the approximate lengths of xand y?
Far e}
. 2030 .
A 2VT feet
« - 5 e
¢ ok
«
b Bieet
A 13, Al2dootisdder otesa 75 gl with e
. o W v, okt s
e cinfot s o o shont
<
o.
10. o ihttinge,oneclthesaengies
rascrn e e e e e
e s s~ G ccon - &)

whatae thevalues of cos yand tany? the adder s adjsted so & makesa 60° angle
wih the ground intead, how il the height the.
Iacider reaches on the buding difer iom s

FII—
A coymareny e previoushaight, h?

B cosy=Piony=3 A Thohoightthe ladderrescheson the

N Py bulding willbe about 1.2 eetlower.
€ cosy=gitany = B. Theheighttheladder rescheson the
o bulding willbe about 2.9 festlomer.

€. Theheighttheladder rachesonthe
bulding willbe about 2 eet igher.
. Theheightthe ladder reaches on the
‘buiding willbe about 2.9 feet higher.
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Right Triangle e“é

Georgia

o ;

Milestones Trigonometry
ongl DEFwa e by ascaefocorof 315, Ghn atsn 20 = 0.3 andsn 700 = 094,
and translated 1o the fight to form ADE'F". what s the approximate value of tan 20°7

I3
A om
£ B 03
€ o052
10em|
0. 276
P v —r

‘Which statement about these two triangles i
nottrue?

A The tangentof £ Eis equal o the tangent.
of €

B, Teungencorceisd.
€. Thavatun of xis sbouk  contimaser.
D, Thevalue oty i bk 9 contimoters.

17, Shayalooks up and secs a ki stuckin e Sh s GOfect o th trrkof e ree. Hor oy el ot

atiove the ground. The angie of elevaion fom her eyes o the K s 42°. About how maryfeet above the
roundis the kit to the nesresttenthof afoot

Show s work.

Right AABC s llustrated below.

A Usea tigonometrc ratio o find x,the length of AC, to the nearest inch. Show all work..

8. Use atiigonometrc o o findy; the length of AB, to the nearest inch. Show allwork.
ye.

C.._ Showthtthe sde engthsfoundfor AABC satsy the formuaorthe Pythagerean Theore. Expisn whot
his icicates aboutthe values of xandyfound above.
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Georgia
ones

&

. 3
Milest ‘ Circles and Volume 4

1. incirle O, which term does not describe RY

A chord
B, dameter
. b
D, secant

2. ety the ol thtwil e fomed by otting
the figuro 360° about the dashed Ine.

tianguarpism
sphere
oyinder
yinderwith two cones removed

paey

3. Across section of this tiangularprismis taken
perpendiculrtothe prism's iangular base.

Wrats the shape of the crosssecton?

A rectange
B. tiange
€. taperoid
D. elipse

e crow several Giclesthat have diffeent
o, using  compass. What must be rue of he.
il sha drews?

A Alofthe cirles e simlar but ot
mecessary congruent.

B, Alofthe circes are congruent but not
nocossary smia.

€. Alofthe cirles are simiarand congruent
0 0ne another.

D, None of the Gicles re similaror congruent
0 one another.

Figure A shows  square inscribed ina cicle.
Figure 8shows a decagon inscribed na circle.

Figue A Figure B

Aviva wanis 0 use a polygon nscribed nacicle
t03pproximate the area ofhe circl. Which
polygon described below has on areo that most
closely approsimates thearea of the crcen
which t sinscribed?

A asqwe

B. adecagon

< avengle

D.areguiar polygonwih 12 sides

The Pyramid of Cestus is an ancient pyramidin
Rome, tal. It has a height of 37 meters anc .
Square basa wit sdes messuring 30 meters.

‘Whstis the volume of the pyramid?
A 5550 cubicmeters
B 11100 cuble meters
€. 13,690 cublc meters
D. 33,300 cublc meters
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Across secton’s taken froma sphere. Which of
the foliowing s te?

A, Thecross section mustbeacirce,

B, The crosssectionmust bean elipse.

€. Thecrosssectionmay beacirdeor
anelipse.

D, Thecrosssecionmaybeacideoraline.
Incircle 0,8 = Fand OM = 9 inches

N,

Wihatis the length of FAN?
A Finches
B 3minches
C. 6Bminches

D. 18minches
Pablowants to draw two tangent nes o cicle A
from point 8. He sarted by draving a no from
Ato 8. He then constructed ine CD.

‘Whatshould Pabio do ned?
A, Construct BCand BD.
B, Comstruct ACand A,
€. Construct cicle Bwith radivs BE,
. Construct circle E with racius BE.

10, The circle shows intersecting chords.

&

Whatlength is represented by x1
A 3units
B. 4units
C. Gunits
. Bunits

M. The napkinring has a height of 3 centimeters
anda thickness of 0.2 centimeter The diameter
ofthe holenthe center s 3.8 centimeters.

0zem

Ifthe rapkinringis made of sold siver,
‘appraximately whatis the vokume ofsier inthe
napkinting?

A O4aubiccentineters
B. 75cbiccentineters
€. 377 cubiccentimeters
D. T130cubic entimeters
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12. Cicke Gisshoun. 14, Trecup dispeser o wate coolrcontains
Conaopm pope ot i Areons
o
.H
J
Vivtistha messre of 7 Ropeosmatclybowmany cbic centmetersof
s
Ao
i A 75ciccentneion
B 201 cubconimetes
kot €. 226 cubic centimeters.
o a0

D. 301 cubic contimeters

Une segments ACand BCare adiofcicieC. 15 Incicie O, QP measures 41°,
Points Aand Bare connacted to form two

verices of AABC. The s ofcecl C 6 12m M
ong, ond m£ACB = 60°. Wi
x /\
AN . c
1

Wrich of the ollowing mustalo be true?
A MZQNP=205%mLQOP= 205
mLONP = 41% mLGOP= 205"
MZONP = 41% mLGOP = 82°

‘The shaded area bounded by ABand 4B is
caledasegment ofthe crce, Wrich best

orosmaues e aes of s segment? D. mLQNP=82%m.QO0P= 82
A 6square centimeters. The diameter ofacicleis 8 meters Ifthe ne
B, 13square contimetors ofthe diameter is etended 2 meters beyond
the ciceto point Pand a tangent drawn from

G- G2squmrecentireters pointPintersects the circe at point 8, about how
D. 75 square centimeters fongis P57

20meters

a5 meters

80meters

D, 89meters
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17, Jonah acrunstel constrcted point Zior AWXY,
asshown.

Wihichofthoollowing st oftis
consnucion?

A, Risthesnglobisectorof £X.

8. WRistho porpendicula bisoctor o X

€. Poiot Zis thecenter of the circe that canbe
ciaumscribed sbok AVAY.

. Poin Zisthe cente of the irce that canbe
inscrbedin AWY,

18 In the cirdle, FG and Hare intersecting chords.

J
36

G

A

48°

H

Whatis the value of 2
A &
B 2
c
D. 48

19, The sphere shown has a radius of 12 meters, What s the volume of the sphere?

A 2887 cubicmeters
B. 576w cubicmeters

€. 1,296 cublemeters
D. 2304 cublcmeters

20, Twocyinders are shown below. Each has  height of 10 units and a raius ofr uits, and each has been cut
byahorizontal plane thatis parail to the bases of both cylinders.

5

Right Cylinder

Oblique Cylinder

Wihich statement accurately compares the volures of these two cylinders?

A Therighteylinder has a greater volume than the cblique cyinder because ts cross secton has

a greaterare.

agresterares.

The oblique oinder hasa grester volume than therightcyinder because its ross section has

€. Bothcylinders havethe same volume because thelrcrosssections have the same area.
D, itisnot possible to determine which cylinder has a reater volume because thelength of the

radiius, 1 s not given.
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S

the ciclewith this equation?
w3 =

A comer (3, o

coners[3,~Jf s

5
€ conter(-3, 3 usd
o

contec|-3, Y e .

2. point8isthomidpointofCDon the oridbolow.
¥

Which expressionshoud be sed o detemine
the coordinatesof gt 57

pra 22
N
@43+

e
o 21
3 =2

3. Whichstatementis tue of the circle and
the line described by the nonfinear system
shownbelow?

P25
o
A.  Theline s tangent to the circl

B. Thelineisasecant of the circle.
€. Theline doesnot intersect the circle.
o

The line passes through the center point
ofthe circle.

s

Which shows the correctconter andraciusfor & POt PL=2, T1and O, 2 arethe endpoints of

the i segment thatis graphed belaw.

y
1

i}

Which expression should be used to determine
the length of PG

A @y
B \E-Car-@- "

¢ sy

o. V@+ar-u+

[T ———
asaris s camimtr For e,
fnd oot s e ot e
(S} hichtement st

A Theratioofcicle A icumeencetots
dmetrislessthon the ato of e Bs
ercumeenceto s dameter.

B. Thentioofcicle As cireumferenceto
itsdiameter ishafthe atoof cirde Bs
crcumferenceto ts dameter.

€. Theratioofcicle Ascirumerncetots

ometris greaer thon e atioof circe

B cicumferenceto ts dameter.

Therstioofcrcke A raumforence o s

dametris thesames theato of circke s

cicumirence o is damater
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Awheekhair accesslbie ramp must hove on
anglo ofelvation of o mora than B°, About
whatis he length, ¢, of a ramp reeded toreach
3 doorway thatis 4 feetoff the ground? About
whatishe distance, b, from the sartof the ramp
tothe docrway?

.

b

m

CuTI4B b~ NS
B c=ll4afb=T14681
= 28741 b= 28.46R
€= 2846f;b~ 2874R

Use the fine that s graphed below to answer
the question.

0.

Point, located a1 3, B, les ona cicewith
center(6, 4). Whati the equation of the cice?

A -3 Hp-8F=s
B (-3 +y-eF=25
C k=6 +y=47=5
D (-6 +y- 4 =25

Atriangle, AXYZ,is graphed on the coordinate
plane below.

<

Coed

Which of the following proves that the trangle.
s soscoles?

A
[

mevZX=45°
z=6
€ mLXZ>miZXy
D, Xv=¥Z

Poirts A(=2,9)and B(6, ) e the endipoints of
the inesegmentshown below.

y

t

‘Which equation represents  fine that s perallel
ine thtis graphed above?

o.

‘Which pointis 3 of the distance fom point Ato.
point 87

A o7
B @3
c @y
D. 2.5
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. Whatisthe distance between points El—5, ~3)  14- Use the fnetht s raphect below to answer
andFi2, 7 the question.
A T ¥
B B
c
o & 1
12, Usetheline thatis graphec below toanswer
thequeston.
y
Wrich oquationropeosarts alia that passes
Wrough the point 7, ) andis ol totheline
thatis graphed above?
A y=-3xd
B y=-jxis
i € y=7x+a
Which equation represents i thatis 0. y=7x-a5
perpendiur totheline shown abore?
A y=der2
3 15, Acylindrical salt shaker has a radius of 2 cm and.
B y=ix-8 oheightf 7 c. Itcomesinabox thatis Bem
B allandthasa square base with an edge length of
€ ym—gxt? 4 cm. Which is dosest to the volume of airin the
B ymmZem box outsde the satshaker?
y=-x-2
A 2om’
3. Aethelinesy=~4c+1landy=—~4x-3 g soom
parallel, perpendicular, or nalther? < oo
A neither D. 8acm’
B panlel
€. perpendicular
D.  cannot be determined
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16.  Use the lne thatis graphed below to answer
the question.

The tiangle that s raphed in the coordinate
plane sisosceles.

eadies

A

Which equaton represents aine that passes

tvough he point (-4, =3)and s perpenicular

totheline tat s graphed bove?
A y=2i5
y=2-3

5
R
o

o

7. Abilogistis eakatng 3 solamolefor
earthworms. In 6 cublcinches of s, the
bioiogistfinds 1 esthwors, i the densiy of
eorthwormsin this soil somple s epresentative
oftho donsiy of carthworms na rearby i,
whichmost accurtely descibes the density of
carthworms i the feld?

A 22 carthworms per cubic oot of sol
88 earthworms per cubicfootof soi
1264 esttmorms per cubic oot ofsoil.
13,168 cartworms por cubic foot of ol

LN

Which sentencs proves thst X bisects the base:
ofthetiangle?

A, WXbisects the base because:
ZNis arightangle.

B. WRbisectsthe base because
MEMNE = mZNM,

€. WRbisectsthe base because
X=XN= dunis.

D. WRbisectsthe basebecause
K= XN = VB unis.

Th ol i gore formisghen el
P 6+3-0
PR T———
he s, ety e e o s,
st

L —
o
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' Application of Probability

Georgin

Mdcstones

3. Eightties areinafishbontas shown.

Consider the universal set, U, and its subsets,

AandB. —
U=0,2,4,6,7.10} (AL 1AL N TH]
A=(2,4,6,10) BN
8=(2,6,7)

Which set represents AN B2 kil reachntothe bag and selacta

e withoutooking. Whichrepresets the
A 2 ‘probabilty that he vl select ate that dlisplays
B 2.6 theletirN?
)

c @0 A}

D. {246,710 B 1

Asample o 100 b tme students t alocal <3

communiy colege participatedina survey o 1

investiating whether students pay orthic 2

owntuiton and whether studerts e employed 4 Feveis Aand Barsncpendert, wich

Toworkwhie aking csses Th resubsofthe ttementsboutevents A and B st be e

survey arerecorded inthe table beow. A Thecucomeol eent Adoes notafectthe

outceme ofevent B, A ) = FAPE)
DoesNot The otcome of vt Aafiecs he
Paysoun | payown outccme fevent B, AN B = FAPE)
Tuition <. Thooutcoma ofevontAdoss nct
Employed 2 2 sfct thooutcom ot event B 50
NotEm 0 ; FAUE = RA + .

0. Theoutcoms of event Asfecs:

Wrich of the following condlusions canbbe. thacutoome of vent s

drawn from the results of survey? FAVE =R + AL
A Mostsudenswhoare eny for 5 Fortwocutopping events Aond B wichol
thei own hion. wlorsdpey thefolloning s equalto AA U BI7
B.. Mostsudents who payforthe own iion A e
are employed. B. PlA)+PBI- AN B
€. Most students who pay for their own tuition
and are employed hve betersivis tan < el
those who do not pay for their own tition b, N8
andare employed i s occuptons. o

D, Moststudents who do not pay for their
own tition are not employed.
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3.
A parallelogram has vertices at (0, 0), (0, 6}, (4, 4), and (4, -2).

Which transformation maps the parallelogram to itself2

A. areflection across the line x = 2
areflection across the line y = 2
a rotation of 180° about the point (2, 2)
D. arotation of 180° about the point (0, 0)

ow
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‘Alarge bag contains marbles ofthe following | 9.
‘colos: block 3, green (@), red (), and

yolow (V). Asmal bog contains marbles ofthe
Tollowing colors: green (G), white (W), and

yellow (Y1 Which o the fllowing fepreserts the
urionof the setsof olorsn the two bags?

A GR

B. (61

c BGRY

b. B.GRWY

“The following Venn diagram llstrates

ACN D)and AC N L. Neither PIC N D) nor
HCUD are disployed.

Wevents Cand Dare independent events,
which epresents ADJ?

A oo
5 02

€ 03

b o0s

Wt Alsindependntof evert 8, whichofthe
foloing st botrue?

A PALB)=AA)+ PB)

5. Al =1A0

C. PAIBI=PAUB - MANB)

D AAlE-He

The conductor ofachorus records the names.
of three male soloists and three female soloists.
The conductor wites each name an an index
card. Thelndex cards marked with male soloists'
names are placed in one hat, and the index cards
marked with fermale soloists’ names are placed
inanother hat. The conductor wil sandorly
choose one index card from each hat o select
the pair that il perform a duet atthe spring
concert. From a given hat, cach index card is
equally kelyto bo chosen. The following tree
Giagram shows all the possibie combinations
forthe duet.

Female Soloist
Deliah (0)

Hazel (H)

Simene (S)
Delilah (D)

Memphis (M)< Hazel ()
Simona 5)

Delilah (D)
Hazel (H)

Simone (5)

Male Sol

Caleb (C)

Teddy (M)

‘Which represents the probabilty that
Memphis and Simone wil be selected to
performthe duet?

)
A3
1
[
X
c 3
31

®
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The ollowing Venn diagram describes the
foreign languages being studied by members.

of the boys’ basketballteam ot Central High
School. Students may choose to study French ()
o Spanish (5], Let the rectangle represent (U1,
the universal set.

u

Hayden

n

‘Which describos the eloments ofthe subset
Fns

A. players who study French but ot Spanish
B, players who study Spanish but not French,

€. players who study either rench of Spanish
butnot both

players who study neither French nor
Spanish

o.

The universa set shown by the Venn diagram
isthe set ofall possible outcomesof ossing
2 number cube with faces numbered 1 to

6. Subset Ois the set of outcomes that are
odd. Subset Misthe sat of outcomes thatare

multiples of 3.

U
Which contains all elements of @ Y M)7
A3}
B. (2,4
c (.56
0. (1,2,4,56

2 4

2

s,

18

The physical education teachers suveyed
inth-grade students o find out which field trp.
they were mostnterested in taking.

Go (6] [ Swimming (5)
Boys (8) 7 20
Girls (6) a5 5

Ifarintivgrade boy from the school s randomly
chosen, which of the following would you
expectto betrue?

A Howould beabout 3 tmes s kel to
prefera gofrip o2 swimming tip.
Hewould beabout 3 times as kel to
preferaswimming tip toa golf rip.

€. Hewouid be sbout 7 times 3 iely to
prefer a golfrip toa swimming tip.
. Hewoud bojustslikely to prefera

Golftip a3 swimming .

Tenthgrade students wil have 0 sign up for
ahealth lectivo. A survey ofa group ofenth-
‘gade studentsasked which elecive they would
most e to ake,

FirstAld (7]
20
s

‘Ntrition (N]
s
0

Boys (@)
Gins (6)

Whichis equislentto HBU N7
A 0%

B 3%

c o

o 5%

Avwhite numbercube, ared pumber cube, anda
reen rumber cube, each with faces numbered
Tto6, retossad at the same time, Whichaf the
folowing represents the probatily ofal three.

cubeslanding on odd numbers iven that the
whitecube landed on 37

A

1
3
1
T
1
B
:
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15, Sucers e s toimesizsevhater W epreensthe prababity hata rndomy
oyt e oSS mgharenia il st o th s crs
5 oy e ebomtn vt ey rstorthnor s 085 hen htth sdont
o e comte ot oo it ioscomputor omes oM b0t
et g e
it
— 5
ey .
s [ewmze] b §
[T | . <:
Damorray - M
| Computer Games S LIS

16, The folowing Vern diagram shows the intersecton of o ses. Sat Ashos the rumber of it grade.
stadontsintho school S B shows the umbar ofsudent n o school band.

GO

Based on the Venn diagram, whatsthevlue of 8| A What doesthis probabiy represent? Show i of
yourwork

7. Bl and twelfigrade stuents 3t Foawn High School were ashed whether of ot thy have their ovn
cars. The resulsof e suvey arerecordedinthe following tro-vay fequency able.

HaveCar(@) | NoCar(W)
Eleventh Grads (£) 5 32
Twelfth Grade (7). 2 18

Suppose astudentis andoriy chosen rom st o leventh-anc et grade students ot he high schocl,
Whatstheprobabiy that thestudent chosen wil be n twelth grad ot have a ca? Use probatity
‘v setnolation 1o show o explin how you deermined theanser.

Eightytentgrade students a Miton High School were askedt which school knch they ke best. Of the boys
25 choso piza, 4 chosa chicken, and 11 chose tacos. Of tho i, 7 chose piza, 20 chose chicken, and 13
chosa tacos

A Creste s twowy frsauency able for these dsta.

Total

Bovs
irs
Total

8. Whatis the probsbiiy thta ten-grade student chosen rancomyat Miton High School s pizza
oest? Explin how you determined your snswer
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6.
What is a rule that describes the translation QRST— Q'R'S'T"?

A (x)) = (x=6,y+2) e ()= (x-2,y+6)

b (x,y) = (x+6,y-2) d () = (x12,y-6)
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1.

Look at the square WXYZ on this coordinate plane.

¥y
3

What is the perimeter of the square WXYZ?

A. 20 units
B. 25.8 unils
c. 32units
D. 40.9 units
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10.

What s the coordinate of point P that lies along the directed line segment from
Q(2, 5) to R(7, 12) and partitions the segment in the ratio of 1 to 17

A @.42)
B. (45,85)
C (592
D. 5.7)
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7.

Given the points P(2, 1) and Q(-9, -6), what are the coordinates of the point on
)

dirocted line sogment P that partitions PQ in the ratio 52
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1

An equation of line a s ¥ =~ =x-2.

2

aand passes

s an equation of the line tht s perpendicular to lr

5
1
!
§
£

H

“2x-2

cy

—2x+8

Dy
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12.

What is the equation of a line that is perpendicular to y -%xfsavld passes
through the point (6, 4)?





image19.png
9.
Triangle ABC has vertices as shown.

What is the area of the triangle?

A. J72 square units.
12 square units
/288 square units
24 square units

oo w
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13.

‘The coordinates of endpoint .1 in 15 are at (-3, 0). If the midpoint of the segment
are the coordinates of point 57

a (0515 b (05 3) . (0,8 d (6 5)
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are the coordinates of point B7
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19.

A manufacturer s designing a two-wheeled cart that can maneuver thiough tight spaces. On one test
model, the whsel placement (center) and radius is modeled by the equation (x +2)° +(— 1)* = 4. What
is the graph that shows the position and radius of the wheels?
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14.

Which is an equation for the circle with a center at (-2, 3) and a radius of 32
A Xy -6y +22=0

B 27427 + 8-y +
C.oxt e dr-yad=
D. 3+ +ax -6y +
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15.

Which point is on a circle with a center of (3. -9) and a radius of 52
A. (-6,5)

B. (-1,6)
C. (1,6

D. (8,-5)
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20.
What s the cquation of a circle that has center (-6, 2) and radius 1067

o (=67 (r+2)" - N0 e -6 (yr2) - 106
boGee) e (r-2)" = VTG 4 07+ (r-2)" = 106

21.

Which of the following i the correet equation for the circle shown below?

10

16

2 (-1)7+(y+2)" =49
b G+l (r-2)" =29
e (x=1)7+(y+2)" =7
4 (e1)?e(y-2)7 =7
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16.

What i the center of the circle given by the equation x? +y?- 10x- 11 = 0?
A (6,0

B (0.5)

. (5.0

D. (0.-5)
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17.
‘Which point is NOT on a circle with a center of (0 ,0) and a radius of 10?
A (0,5
B. (10,0)
c. (0,-10)
D. (-8.6)
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18.
Study this equation of a circle.
K-Ex+y2+2y+6=0
Which of these represents the center and radius of the circle?

A. center: (3, -1), radius: 4
B. center: (-3, 1), radius: 4
€. center: (3, -1), radius: 2
D. center: (-3, 1), radius: 2
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22
The circle shown below is centered at the origin and contains the point (4, -2).

y

=

Which of the following is closest to the length of the dizmeter of the circle?

a 1341 b 1166 . 894 a aar
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25.
In the figure below, p || ¢

Which of these statements is NOT true?
a mil-med o mL64mLd - 180°

b mi6=me2 o mi2+4miS = 180°
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2.

In the drawing below, line /s is parallel o line .

a 135 b 15 c. 35 d 145
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23.
Lines s and £ are parallel and r is a transversal,

312 '
5|8
7|6
Which angles are congruent to 247
A £2,45.48 o 43,4521
b £2,26,/8

4 23,2748
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24.

In this drawing, line p is parallel to line j and line 1 is perpendicular to AB.

What is the measure of ZBAC?

a 37 b 53° o 90° d
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28.

Consider the triangles shown.

D

b E
Which can be used to prove the triangles are congruent?

A sss
B. ASA
c. sas
D. AAS
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27.
In this diagram, DE =T and /D = /J.

E 1

D H F 7

sufficient to prove that ADEF is
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congruent
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33.

i i reting an absract design bt ncludes the igure below

P

She knows that ZPQR = 2TSR What additional iforamation would
APOR= ATSR wing ASA?

@ LQPR=LSRT o PR=TR

b QP=ST 4 QR=5R
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32.
T the proof below, what i the missing reason?

]
Given: ABCD is a kite ] :
Prove: LB x LD
13
__ Statement Reason
4D and BC = CD. 1 Definition of kite
ic 2 Reflexive Propeny of equality
ADC Y
40
P o s

b cPCTC 4 aas
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29.

In this diagram, CD is the perpendicular bisector of AB. The two-column proof
shows that AC is congruent to BC.

(ef
A D B
Step Statement Justification
1 | CDis the perpendicular bisector of AB. | Given
2 |AD=BD Definition of bisector
3 |cD=CD Reflexive Property of Congruence
4| ZADC and ZBDC are right angles. Definition of perpendicular lines
5 | zApc = zBDC Al right angles are congruent.
6 | 2apc = aBoc 2
7 |AC=BC GPCTC

Which of the following would justify Step 62

s
AsA
sAS
SSS
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she need to prove that
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APOR = ATSR using ASA?
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34.
1If ADNP = AHKF, which of the following is NOT true?

a NP=KF ¢ LDuiH

b. DP=HF d sP=lK
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31

What other information is nceded in order to prove the triangles
Postulate?

A

¢ 4B||AD

b ACLED d AC«BD
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30.

In this diagram, STU is an isosceles triangle where ST is congruent to UT. The.
paragraph proof shows that £S is congruent to ZU.

7

Itis given that 5T is congruent to UT. Draw TV such that V is on SU and
bisects /T. By the definition of an angle bisector, ZSTV is congruent to
ZUTV. By the Reflexive Property of Congruence, TV is congruent to TV.
Triangle STV is congruent to triangle UTV by SAS. £S is congruent to U
by 2

Which step is missing in the proof?

A. CRCTC

B. Reflexive Property of Congruence
C. Definition of right angles

D. Angle Congruence Postulate
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35.

‘What is the value of x?

105

a 33 b 75 e 147 d 162
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Postulate?
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congrucnt using the SAS Congrucnce
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0.

ABCD s a thombus. How do you complete the explanation that states why A4BC w ACDA?

a ¥

D «

75 = CBand 5C = 13 by the defnion of hombus. 7C = 7C by the Reflexive Propeny of Congruenc,

S0 ALEC = ACDA by

a Asa e s
boAAS 4SS
41,

A community is building a square park with sides that measure 120 meters. To separate the picnic
area from the play area, the park is splt by a diagonal line from opposite comers. Determine the.
‘approximate length of the diagonal line that spits the square. IF necessary, round your answer to the
nearest meter.

P

10m

Payara

3
H
H
5

42.

Quadrilateral RSTU has vertices R(-6. =3), S(3, 3), and T(4, ~1). What are the coordinates of vertex [7if
BSTU s a parallclogram?

o (5.6 e (6.7
b (5.7 4 (-6, -8)
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36.
Which information Is needed to show that a parallelogram is a rectangle?
A. The diagonals bisect each other.
B. The diagonals are congruent.
€. The diagonals are congruent and perpendicular.
D. The diagonals bisect each other and ate perpendicular.

37.
Parallclogram ABCD has vertices as shown.

Which equation would be used in proving that the diagonals of parallelogram
ABCD bisect each other?

A (3-1) +(2-0F =[(1-3)° +(0+4)

B. (3427 +(2+0]7 = J(x+3) +{0-4)
¢. fi-t-1)7+(a-0) = [[1-3P +(0+4)"
D. i-1+1)" +{4+0) ={(1+3) +(0-4)"
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39.

What proves that figure ABCD is a parallelogram?

B

Diagonal BD bisects angle ABC.

Side AB is equal to diagonal AC.
Diagonal BD bisects diagonal AC.
Diagonal BD is greater than diagonal AC.

Pem>
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38.
Look at quadrilateral ABCD.

D c

Which information s needed to show that quadrilateral ABCD is a

parallelogram?

A, Use the distance formula to show that diagonals AC and BD have the same
length.

B. Use the siope formula to show that segments AB and CD are perpendicular and
‘segments AD and BC are perpendicular.

C.. Use the siope formula to show that segments AB and CD have the same slope
‘and segments AD and BC have the same siope.

D. Use the distance formula to show that segments AB and AD have the same
length and segments CD and BC have the same length.
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43.

Which of the following would be enough information to prove that quadrilateral QRST is a
parallelogram?

Q R

a QR=ST ¢ QP=PSand TP =PR

b. OR|ST d Two pairs of sides are congruent.
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49.
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With the implementation of the Georgia Milestones Assessment System, Georgia educators have developed four achievement levels to describe
student mastery and command of the knowledge and skills outlined in Georgia's content standards. Most students have at least some.
knowledge of the content described in the content standards; however, achievement levels succinctly describe how much mastery a student
has. Achievement levels give meaning and context to scale scores by describing the knowledge and skills students must demonstrate to achieve
each level.

‘The four achievement levels on Georgia Milestones are Beginning Learner, Developing Learner, Proficient Learner, and Distinguished Learner.
‘The general meaning of each of the four levels is provided below:

Beginning Learners do not yet demonstrate proficiency in the knowledge and skills necessary at this grade level/course of learning, as specified
in Georgia's content standards. The students need substantial academic support to be prepared for the next grade level or course and to be on
track for college and career readiness.

Developing Learners demonstrate partial proficiency in the knowledge and skills necessary at this grade level/course of learning, s specified in
‘Georgia’s content standards. The students need additional academic support to ensure success in the next grade level or course and to be on
track for college and career readiness.

Proficient Learners demonstrate proficiency in the knowledge and skills necessary at this grade level/course of learning, as specified in
Georgia’s content standards. The students are prepared for the next grade level or course and are on track for college and career readiness.

Distinguished Learners demonstrate advanced proficiency in the knowledge and skills necessary at this grade level/course of learning, as
specified in Georgia's content standards. The students are well prepared for the next grade level or course and are well prepared for college and
career readiness.

More detailed and content-specific concepts and skills are provided for each grade, content area, and course in the Achievement Level
Descriptors (ALDs). ALDs are narrative descriptions of the knowledge and skills expected at each of the four achievement levels and were
developed for each grade level, content area, and course by comittees of Georgia educators in March 2015 and July 2015. The ALDs are based
on the state-adopted content standards.

ALDs show a progression of knowledge and skills for which students must demonstrate competency across the achievement levels. Itis
important to understand that a student should demonstrate mastery of the knowledge and skills within his/her achievement level as well as all
content and skills in any achievement levels that precede his/her own, if any. For example, a Proficient Learner should also possess the
knowledge and skills of a Developing Learner and a Begi
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47.
A 1200t ladder is leaning against a building at a 75° angle with the ground.

24 =

Which equation can be used to find how high the ladder reaches up the side of
the building?

A sn7s-12
X

8 tanrs -2
X

C. cos75 =
1z

in75e= X
D. sin75° vl
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48.

A hot air balloon is 1,200 feet above the ground. The angle of depression from
the basket of the hot air balloon to the base of a monument is 54°

Which equation can be used to find the distance, d, in feet, from the basket of
the hot air balloon to the base of the monument?

& e
o onser- 20
o s -2
D. coser = 120
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44
In right triangle ABC, angle A and angle B are complementary angles. The value

of cosAls % What is the value of sin B2

A £
13
12
83
1
¢ n
13
o5
45,
Triangle ABC is given bolow.
4
s
om b
2 12m <

What is the value of cos A?

wlow s Mw olw
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47.
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In right triangle HJK, ZJ is a right angle and tan ZH = 1. Which statement about
triangle HJK must be true?

1
A sinZH=
B. sin/H=1

C. sin /H=cos /H

1
Cos H

D. sin /H=
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50.
At 2 cerain time, a vertical pole 10 fect tall casts a 14-foot shadow. What s the angle of clevation of
the sun to the nearest degres”

a 360
b

Pl
4 sae
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49.
Which equation is true?

A, sin40° = 1an50°

B. c0s40° = Gos50°

C. sin40° = sin50°

D. c0s40° = sin50°
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51.
What is the approximate valu of x in the diagram below?

4 B

tsom

& 76 centimeters . 163 centimeters
b 84 centimeters 4. 199 centimeters
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56.

. In the triangle shown, GH || DF .

E

What is the length of GE?

A. 20
B. 45
c. 75
D. 8.0
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55.
I e ings shown, 5451 e oo of 21 om V2

4

Given that m/A = 50° and m~B = 100°, what is m/Z?

A 15°
B. 25°
c. 30
D. 50°
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Georgia T
Milestones

Georgia Milestones Assessment System
Geometry: Georgia Standards of Excellence
DOMAIN STRUCTURES AND CONTENT WEIGHTS

Item Types:
Selected Response

Constructed Response
Extended Constructed Response

Total Number of Items = 53
Total Number of Points = 58

Reporting Category Standards Assessed Approximate % of Test

G-CO
(01,02, 03,04, 05, 06, 07, 08,

dlarity 09,10, 11, 12, 13) 359

5-SRT
(01,01a,01b, 02,03, 04, 05)

Congruence and Si

G-C
(01,02, 03,04, 05)
Cireles 15%
G-GPE
(01)

G-GPE
(04,05, 06,07)

G-GMD
(01,01a, 01b, 02,03, 04)
Equations and Measurement 35%
G-MG
(01,02, 03)

G-SRT
(06,07, 08)

Statistics and Probability o102 0356‘;"05 06,07) 15%
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52.

Figure AB'C'DF" s a dilation of figure ABCDF by a scale factor of = 2+ The dilation
Is centered at (-4, ~1).

Which statement is true?
AB_pe
4B BC
AB_ e
AB BC

AB _BC

a8 _oF
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54.
In the coordinate plane, segment 7Q is the result of a dilation of segment XY by
ascalo factor of 5.

'

x

2
-
-
-
-
=
-

T T
EE
1 1
T 1
T

e
a8
EE
Il [
A

Which point is the center of dilation?

A (-4,0)
B. (0.-4)
C. (0.4
D. (4,0)
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53.

Which transformation results in a figure that is similar to the original figure but
has a greater area?

adilation of AQRS by a scale factor of 0.25

adilation of AQRS by a scale factor of 0.5

adilation of AQRS by a scale factor of 1

adilation of AQRS by a scale factor of 2

cowm>
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57.
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59.

Which transformation on quadrilateral ABCD produces an image that does not
preserve distance between points in quadrilateral ABCD?

A. reflection acrossy = X

B. transiation 3 units down and 4 units to the right
C. dilation by a scale factor of 2

D. rotation of 270 degrees
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62.

A bell tower is 17 meters tall It casts & long shadow on the ground below. The tip of the shadow of
the bell tower s 51 meers from the base of the bell tower. At the same time, a tall el tree casts 2
shadow that is 63 meters long. If the right triangle formed by the tower and its shadow is similar to
the right triangle formed by the clm and its shadow, how tall i the clm to the nearest tenth”

a 138 meters e 189 meters

b 20 meters 4 37meters
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61.

In the figure below, NP is the altitude drawn to the hypotenuse of AMNO.

M 5 ZIC)

1€ NP =9 and MP = 15, what is the length of OP?

a 72
b 62
c. 54
d 48
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Look at the triangle.

Which triangle is similar to the given triangle?

W%

N/
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58.

Parallelogram FGHJ was translated 3 units down to form parallelogram F'G'H'J"
Parallelogram FG'HJ' was then rotated 90° counterclockwise about point G’ to
obtain parallelogram F'G™H"Y".

Which statement is true about parallelogram FGH) and parallelogram F"G"H"J"?

A. The figures are both similar and congruent.
B. The figures are naither similar nor congruent.
C. The figures are similar but not congruent.
D. The figures are congruent but not similar.
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57.

Use this triangle to answer the question.

a 3

This is a proof of the statement “If a line is parallel to one side of  triangle and
intersects the other two sides at distinct points, then it separates these sides
into segments of proportional lengths.”

step Statement Justification

1 GK is paraliel 1o . Given

N ZHGK = ZIH) .
LIKG = LUK,

B LGIK~ AHU A8 Similarity

AR Comesponding sides of simiar
WU triangles are proportional.
HG+H_ K+l

5 o o Segment Addition Postulate:

6 He Ik Subtraction Property of
WU Equality

Which reason justifies Step 22

A. Altemate interior angles are congruent.
B. Altemate exterior angles are congruent.
C. Corresponding angles are congruent.

D. Vertical angles are congruent.
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b D

‘Which of the following conjestures can NOT be made based.

ReoE
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In triangle ABC. PQ is paralle to BC. What i the length of P, in centimeters?

A

sem A\ fem
PN
20em
» e
a 10 centimeters e 20 centimeters

b 12 centimeters d. 30 centimeters
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6 cm. What are the dimensions of the larger rectangle?
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63.

Helena creates two similar rectangles using exactly 100 em of string. The smaller rectangle
6 em. What are the dimensions of the larger rectangle?

a 18emby22em
b 16cmby24em
¢ 20em by 30em

d 36cmbys4em
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on the diagram and the given information?
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65.
Given: 1B || DE.

by
‘Which can be used to prove AABC~ AEDC?

2 AA Similariy Postulate

b SSS Similarity Theorem

4

AsA

ilaity Theorem

SAS Similarity Theorem
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66.

‘Alandowner wants to find the distance d across a pond. The two overlapping right triangles shown
are similar. Using the measurements shown, what is &7

24m

aom

o 36meters o 96 meters

b 76 meters 4 124 meters
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Below are the formulas you may find useful as you work the problems. However, some of the formulas
may not be used. You may refer to this page as you take the test.

Formulas
Perimeter
The perimeter of a polygon is equal to the sum
of the length of its sides.
Distance Formula

(X =2+ (2 =01
Coordinates of point which partitions a
directed line segment AB at the ratio of a:b
from A(x, yy) to B(x, )

bx+ax, by +ay,

® )= Thva

OR
@)= (% g =+ 75 02-3)

Circumference of a Circle

Triangle A= %bh
Rectangle A=bh
Circle A=mr?
Area of a Sector of a Circle

>
Area of Sector =720

Pythagorean Theorem
a+bi=c?

‘Trigonometric Relationships
ad; .

o cos0=jl: tan 0=

op
adj

Equation of a Circle
bR+ —kp=r?
Volume

Cylinder

Pyramid

Cone

Sphere

Statistics Formulas
Conditional Probability
P(A and B)

A ==

Multiplication Rule for Independent Events
P(Aand B) = P(A) - P(B)

Addition Rule

P(A or B)=P(A) + P(B) ~ P(A and B)





image86.png
71
Circle ¥ is shown.

What is the area of the shaded part of the circle?

A

72
The spokes of a bicycle wheel form 10 congruent central angles. The diameter
of the circle formed by the outer edge of the wheel is 18 inches.

What is the length, to the nearest 0.1 inch, of the outer edge of the wheel
between two consecutive spokes?

A 18inches
B. 57inches
C. 11.3inches

D. 25.4inches
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ircle P s dilated to form ircle P'. Which statement is ALWAYS true?
A. The radius of circle P is equal to the radius of circle P
B. circle P is greater than the length of any chord in

C. The diameter of circle P s greater than the diameter of circle P
D. The ratio of the diameter to the circumerence is the same for both circles.
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69.
In the circle shown, BT is a diameter and mAB = 120°.

A

120°

What is the measure of LABC?

A 15°
B. 30°
c. 60
D. 120°




image89.png
73.

Points 4, B, C, D, and £ are located on the circle 0, as shown in this figure.

The measure of D is 80°. What is the value of x?

A 50
B 40
c. 35
D. 25
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70.
Circle E is shown.

What is the length of CD?
A Zryd

8 2oy
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What is the measure of ZVXW?
X

120°

a. 120°
b 63°
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74.

What is the value of x for mAB = 45 and mCD = 427

D

B

b 435 c 66

87
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76.

An athlctc s running along  circular path that has  diameter of 250 yards. The arc traveled by the
athlcte s 120°. Using 314 for x, how many yards did the athlete run?” Round the answer to the nearcst

131 yards
262 yards
376 yards
545 yards

enoe
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78.

A sprinkler rotates through 60°, watering a section of a field. The distance from the sprinkler 10 the
farthest point reached is 3 meters. Approximately how many square meters of the field is waiered?

0.6 square meter
08 square meter
3.1 square meters
47 square meters
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77.

‘What is the measure of arc AB?
A

30

a. 40°
b 100°

c.
d

110°
140°




